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I. 'Tlie process by which amount of drug in the body is

¢ntering the systemic circulation is called:
irst pass effect

a) Exeretion
¢) First order ¢limination d) Metabolism
¢ 2. Which one of following types of reaction takes place in phase 2 metabolism of a drug?
Conjugation b) Hydrolysis 9
d) Deamination

¢) Reduction
27 Which onc of the following process is best suited for permeation of ve

ry lurge protein

molecules into cells?
a) Agueous Diflusion b) Special Carrier Transport S
01:.“.11.@1%'.5 d) Lipid Diffusion
< 4. A process by which a weak acid becomes less waler suluble ““d#‘ﬁw Iipittl_:-mlﬁ;h.*"- low .. .
pll is: . A 4 uib“‘ . '{1h :
a}Dierihuliun b) Permeation 4 af A
¢) Elimination .Frulunﬂliun - :
5. ‘I'heset of propertics that characterize the gliccts of a drug on a body is called: -
a)Distribution b) Permeation
shurmacodynamics d) Pharmacokinetics
characteristics of the climination of ethanol and high doses of

fas==F"

6. I'he kineties tl
*,

a)Distribution b) First— pass effect —
¢) First - order elimination ™ cig ndﬁmk -
7. Drugs administrated through which routes show 100% bioavailability?




1o H}'Pﬂﬂh}'maldim can be treated bynﬂbmwh;:ﬁune of the

T‘rlludcth}-rumnn. L B Surgical m‘nuval of the thyroid Eiﬂ‘ld

. lodide. D. Propylthiouracil.
E. Methimazole.

11 Which one of the following hormones is.a non-peptide, aJlDwmg oral admm stratron?
A. ACTH B. Growth hormone 4

C. GnRH @T hyroxine

E. CRH
—> 12 The ability to reduce insulin resisiance is associated with which one of the following
cla,f;scs of hypoglycemic agents?
A. Meglitinides, . Sullonylureas.
+ C. Glucosidase inhibitors. Thiazolidinediones.
E. Gastrointestinal hormones.

13;  Estrogen replacement therapy in menopausal women:
A. Restores bone loss accompanving osteoporosis: 3. May induce hot flashes
C. May cause atrophic vaginitis.

Is most effective if instituted al the first signs of menopause.

% Requires higher doses of estrogen than with oral contraceptive therapy.

Id A 23-year-old woman has fuiled (o become pregnant after 2 years of unprolected
“intercpurse. Which of the following would be effective in treating infertility due to.
angvulalory cycles?
- A combination of an estrogen and progestin B. Estrogen alone.
Clomiphene. D. Raloxifene.

15 Young athletes who abuse amdrugr.ns should te made aware of the side elfects of
these drugs. Which one of the [ollowing is, however, not of concern?

A. Increased muscle mass. dhntmia due io bone marrow [ailure.
C. Overly aggressive behavior. D. Decreased spermalogenesis.

E. Stunted growth,



n of the drug is mctnhnlizcr.l per unit time int
irst order kinetics

0. A constant fractio
nn elimination

a)Zero order kinetics
c) Bioavailibility d) Ho [Tma o :
10. The effect of plasma protein binding on the Juration of drug action is that it is:
rolonged 1) Shortened
,_p“:',/‘l m t} Constlant d) MNone
¥ 11. Acidic drugs can bind with: . ” )
@G‘Ympmﬁtﬂ b) Albumin oinas Yot nculls
d‘@LiPD“ Protiens' Lovn \) AN of the above [ ¢ tnast P » Dok :
a5”” 12. Clearance is defined as: SR 8 'Fj,)
oncentration

te of elimination/ Plasma drug €

b) Plasma drug concentration/
¢) Amount of drug in body/ Plasma drug

d) 0.7=Vd/CL
olume of

{ elimination
cm'n.'ul'nh;llh:m

Ralco

avce.

distribution will h
h) Decreased hall life

13. Drugs with large Vv
Prolonged half life

¢) No effect on half life
ch drug is exer

and then reabsorbed from gut is called:

eted in hile
b) Hepatic metabolism

14. Process by whi

a) Biliary excretion
/ znterohepatic circulation d) Drug distribution
15. Redistribution results in: i
Termination of action of drug 11 rolonaed aetion of drug “
¢) None of above ]
A. Intrarticular injection is given in joints for: .|
' R_'m:umamid Arthritis 1 b) Fever i
% Cough : d) Peritonitis i
include:
k) Sublingu al =

17.En {eral route

a) Oral
Roth A & B d) Intramuscular
creted by jungs include:
g ':: Alcohol b) Acctaminophen
" yolatile 'quui.ds & pases £ . ’Bmh A & C
Y drug to cause fetal abnormalitics 18 known #8:
I ’hi“?r;:; genicity * b) Carcinoge niciy ‘
) Cross Tolerance d) Allergic Reaction
c et .
fyen as g/C injection are: _
20, Exam Jos of drugs BT b) Adrenaline
d]'ili@smﬁim

sulin

c) Omﬂpﬂmlﬂ
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1. Which of the following correctly defines a receptor?

a. Acarrier that transnorts drug

Mmacrumolecuté of a cell to which a drug binds and thereby producing its effects
c. Anenzyme involved in drug metabelism '

+d. A plasma protein to which drug binds

2. All of the following terms are ccrracly defined EXCEPT:
a. Affinity: The ability of a drug to tind to a receptor
b. ECS50: Concentration of a drug that produces half of Emax (maximum efficacy)

# Efficacy: Maximum efficacy produced by a drug A

d. Kd: The concentration of free drug at which all of the receptors are occupied.

3. A24years old patient is to be treated for toothache with an analgesic. Drug X and Y
are 2 analgesics with the same mechanism of action. Drug X in a dose of 5 mg

produces the same magnitude of respoWse as 500 mg «f Zrug Y. This most likely
means: .

a. Drug X has less potency than drug Y
b. Drug X has more efficacy than drug Y
c. DrugY has more efficacy than drug X
#” EC 50 of drug Y is more than the EC50 of drug X

4. Which of the following variables are expressed by X axis and Y axis respectively cfs
graded dose response curve?

a. Affinity and Potency
ﬁ. Efficacy and affinity - .

wotenc‘f and efficacy
d. Potency and affinity

5. Apartial agonist may act as an antagonist in the presence of a full 3agonist because it

has;
Mi‘gh affinity but low intrinsic activity
b. High affinity but no intrinsic activity N
¢. No affinity but low intrinsic activity
d. No affinity and no intrinsic activity
- Which of the following statements concerning potency EW
_ @ Potency is more important clinically than efficacy i
\#ls a measure of how much drug is required to elicit
¢ The greater the efficacy, the greater the potency o
8. The higher the dose required for a given response,
+ Variation in the sensitivity of a population of individuals
- isbest determined by which of the following?
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' Time allowed: 20 minutes

*1 B |
1. Drugs administered through which route show 100% bioavailability? '!
a) oral ‘intrauenuus c) subcutaneous d)te

2. Anexample of G-protein coupled receptors is:
a) Insulin receptor b) nicotinic receptor

3. Adrug which is lipid soluble and unionized has:
i i P
‘ high volume of distribution b) low volume of distribution ¢} no absorption

4. Ajdrug which undergoes high first pass metabolism:
a) has high bioavailability " b) needs lower dose .DE_E‘.{:IE! higher dose
: |I X

5. A constant fraction of the drug is metabolized per unit time in:

a zero order kinetics " b) first order kinetics
6. Anantagonist is the drug that has: »
. affinity b) intrinsic activity c) botha and b @nan:g'

40
7. Prolonged deprivation of an agonist on the receptors results in increased sensitivity, thi

a) down regulation ‘%mumn N c) both d) none

8. The amount nf a drug required to produce a response is called:

_ Qﬁ_ c) therapeutic index d) |

9. A genetically determined unexpected abnormal reaction to a drug is kn

h‘}.dépendame @ idlﬂwn.ctaﬂ
ity of a drug to cause fetal abnormalities
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a)Zero order kinetics
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10. The effect of plasma protein binding of the duration of drug action is that itis:
rolonged b) Shnnencﬂ
x ,/‘l _ ¢) Constant d) Non¢
}..13“ 11. Acidic drugs can bind with: : \ )
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c) Amount of drug in body/ Plasma drug

d) 0.7=Vd/CL
olume of

Rate of glimination

cm'n.'ul'nh;llh:m

avce.

distribution will h
h) Decreased hall life

13. Drugs with large Vv
Prolonged half life

¢) No effect on half life
ch drug is exer

and then reabsorbed from gut is called:

eted in hile
b) Hepatic metabolism

14. Process by whi

a) Biliary excretion
/ znterohepatic circulation d) Drug distribution
15. Redistribution results in: =
Termination of action of drug 11 rolonaed aetion of drug >
¢) None of above !
A. [ntrarticular injection is given in joints for: .!
' R_'m:umamid Arthritis 1 b) Fever i
% Cough : d) Peritonitis i
include: |
k) Sublingu al =

17.En {eral route
d) Intramusc ular

a) Oral
Both A &£B
excreted by lungs include:
g a Mcohnl ) Acctaminophen
yolatile 'quui.ds & pases ¥k Otamh A & C
drug to cause fetal nhnurmuﬁtins is known 98
i “ b) Carcinoge nicity .

d) Allergic Reaction

ce
¢n as SIC jnjection are:

) b) Adrenaline.
d) Tlistamine
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-+ a. Acorticosteroid
b. Acetylcholine i
c. Adrenaline
4 Growth hormone
16. All of the following are 2™ messengers EXCEPT:
a. IP3
b. cAMP
& Adenylyl cyclase
d. DAG
17. Which of the following ligands is correctly coupled with its receptor signaling
mechanism? ' i
a. Adrenaline: lon channel linked receptors
b. GABA: Tyrosine kinase receptors L
c. Insulin: Intracellular receptors

& Vitamin D: Intracellular receptors
18. The phenomenon of decrease in intensity of response to a given dose of a dr
repeated administration so that greater amount of drug is required to prod

same previous effect is called:

uld most likely
D

a. Allergy
b. Dependence
Tolerance

d. ldiosyncracy

19. Chronic use of an antago
number of receptors. This is called:
a. Desensitisation
b. Down regulation
c. Tolerance

& up regulation . g
] ;Whﬂ \at is the situation when failummmnfl_ﬁyg:‘a#l:h_ istering
B E::.___ : mychulﬂghﬂlﬂﬂdmmmmm called?

nist over a long period of time may cause an increa
: I
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h of the following define
eﬂecthemnceﬂnﬁnnordﬂl ind minim ¢ conce Hon oF deds? %
b. Intrinsic activity i et PR e PR L th
¢. Therapeutic index
\é&” Therapeutic window
10. The dose which produces toxic effect in 50 % of the population is:
a. ED50
e
c. TD99

d. ED1
11. A patient is administered insulin to a patient to oppose the hyperglycemic effects of
Glucocorticoid therapy. This is an example of:
a. Chemical Antagonism
b, Compeﬁ&ve Antagonism
il 2 Antagonism

“Physiological Antagonism
12. All of the following statements are true regarding Competitive reversible

~ pharmacological antagonist, EXCEPT:
causes a parallel shift of the dose response curve of an agonist to the right

" It decreases the potency of an agonist
¢. Itincreases the efficacy of an agonist
d. Its effect can be overcome by increasing the agonist concentration.
13. A patient is administered drug A that produces no effect on its own and causes3
right and downward shift on the dose response curve of another drug 8 and

decreasing its maximyuum efficacy. Drug Ais most likely an:

a. Competitive reversible antagonist
b~ Trreversible antagonist

¢. Partial Agonist

d. Physiological Antagonist
14. Deferroxamine is a drug given in iron overdose.
plasma to form an inactive complex. Which of the fo
pe of antagonism? )

“Chemical Antagonism ("Te B-‘Ua-(,kﬁﬂ‘bw W

Competitive Antagonism
hysical Antagonism
ological Antagonism

mbining with iron i

co
It acts by best defines s

llowing terms



- a)increased plasma level

14. Time taken for the plasma concentration of a drug to be reduced to

known as:

a) bioavailability 'plasma half life ¢) maintenance dose ﬁ;]
15. The maintenance dose depends upon:

2) volume of distribution , clearance ’hol

16. The receptors associated with Steroids are: -
a) ion channels b) G-protein coupled Glntracellular d) none
17. The ratio of median toxic dose to median effective dose is: :

a) antagonism fherapeut‘:c index  c)Allergy d) dependence

18. The requirement of higher dose of a drug to produce the same response is:

a) cumulation .lclerance ¢) withdrawal @ane

IN THE DOSE RESPONSE CURVE SHOWN:

RESPONSE .—




MULTIPLE CHOICE QUESTIONS 6/4}4’.{ 7{&,{4—
FIRST TERM TEST OF PHARMACOLOGY

Time allowed:60 mins Max Marks:45
1.Drugs administered through which route show 100% bioavailability?
a)Oral @nuavenous ¢)Subcutaneous d)Topical

2.The process by which amount of the drug in the body is reduced after administration
before entering the systemic circulation is called:

a)ixcretion @I-‘irst pass effect c)Metabolism d)First order elimination
3.Which one of the following types of reaction takes place in phase 2 metabolism of a drug?
@onjugali on b)Hydrolysis ¢)Oxidation d)Reduction

4.A constant fraction of the drug is metabolized per unit time in :

a)Zero order kinelics @Fusl. order kinetics ¢)Bioavailability d)Hofﬁnann climination

5.The ability of a drug to cause fetal abnormalities is known as:

a)Carcinogenicity  b)Allergic Reactions {©Feratogenicity ~ d)Cross Tolerance

6.Enteral route of drug administration includes all of the following except:

2)Oral b)Intravenous ¢)Sublingual @bom A&C

TA dmgwllinll is lipid soluble and unionized has following properties:

b) Low volume of distribution
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Max Marks:2( OF PHARMACOLOGY

1 %Mc’h of
the l'nllow il
> wth hormone ing is not u h?mthnhu(:tﬁq s) 3 vear MBRS
(2) FSH + Preparation of: e)TRH CRF ¢ 20 mins

LH obtai
(h) - |l1ed ﬁ'ﬂm u | 3 A
T e

L ined fro i s

f;;\:?(.??daf’tmphin mlcasin;hzmz o\ Postmesopu ISR

R e odide sals Escopt

*ased size of the t » 4 |
(¢) Decreased hormone m::ef:::id Bl (b) Dacreased vascularity of the thyroid
4) Which of the following d ecreased peripheral conversion of 'Hgmm
M rugs acts by increasing insulin secretion? MY

a)biguanides
o fon lureas | 3
S)Wisich of t WAIOYALUIR c)Acarbose d)thizolidenidions
\l‘){gul:r sl owmg{ii?}sfhﬁ e o 1 N dlabetic ketoasidosis:
G)A 30 years old hdy b CNie Insuiin (c'_, NIPH insulin d} Cliaebiise foanlt
o | aving breast cancer with estrogen &P S
i v
<) Silde u:ﬁ I e fo ing is usuq::'i Sttt;‘ :m.-.t nppruprhteRd:-ug_ for post coital conu:acu;.livc use?
o W“mmn;glﬁ ves bear an inereawd. risk of : I s tiodrne.
B ism b) Weightloss ¢) Ovari
9). A 70-year-old woman is bci negpcer, ) ysmenonhica
developing: ting frestedavith raloxiiehe for osteoporosis. There is an increased risk of her

Ig)Brcast Canf:cr b)  Uterine cancer Wq) Vein thrombosis ~ d)  raised LDL
.A long acting P 2 a:tt;,l?ic agonist used in asthma is:
a)Salbutamol. almeterol. ¢)Terbutaline.  d)Propranolol

11. A child with asthma is being treated effectively with inhaled preparation of Beclomethsgpe Which of the

'- following adverse effects is of particular conce 7
a)Hypoglycemia b)Hypotension \9) Growth suppression wstmunhr‘nis
12.To produce anti-inflammatory and metabvo;i%aﬂem, Glucocorticoids inhibit:

\a)Cyclmxygcnase. b) Lipooxygenase. ospholipase A2. d)Xanthine oxidase.
13.Which of the following drug is a potent inhibitor of corticosteroid synthesis and is used in severe Cushing's

disease? \4(
a) Dexamethasone. b)Hydrocortisone. etaconazole. d) Prednisone.

14.Glucocorticoids have not been proved to be effective in the treatment of:
(a) Addison’s disease (b) Bronchial Asthma (¢) Anaphylaxis \,(ﬁf()stcupomsis

15. Insulin acts by binding to: J B
(a) lon channel regulating receptor Trosine kinase receplor
(¢) G-protein coupled receptor d) Intracellular receptor : -
16. Which of the following compounds is incorrectly matched w:_th its mechanism of achion:
(a) Flutamide: Competitively blocks the binding of androgens to their receptor
(b) Finasteride: Inhibits 5u-red|-1cl.ase
(c) Acarbose: Inhibits a-gl ucosidase
Pioglitazone: Competitively bla_:nck
17)Which drug enhanegs the action

s the binding of estrogens to their receptor >
of GABA iv nematodes causing muscle paralysis:
C)pyrantel pamoate. D)thiabendazole

albendazole. fvermectin. N 3

et s W S\
| B)tamoxiien. e Bl e

a) C)’clop:msi?r::‘;:ﬁ;}wmg dr}ug is most likely responsihle for hemurr"h‘zl:gu. L'.}f!:[:tlh.j
A yc o ]'C’Ph"'SFh“midc' O)fiuorocil BTy U. - ular carcinoma and is als
A)doxorublc;ﬁh ol Bl o e drug that is used in ﬂﬂmbiﬂlﬂiﬂﬂ therapy for testicuiart
ZH]Which of the follo s |
associated ik nephll.;];:lv’ji‘:t:nligs'line Wplalin. D)Leuprolide

A) Bleomycin.
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e

o) released fro

14 stat
d);wmh ent about Th:mnin: (T4) is correct? =
ore active than T3 Om activethan T3 c)Half life is less than T3

15)Following are the effects of jodide salts Except:
() Decreased size of the thyroid gland ) Decreased vascularity of the thyroid E‘ﬂ"dz
I:Icg][:;:riin:ud hormone rl:'.lcasc reased P,L.ﬁ?h,_-_m] conversion of T4 10 ;r**-
of the following drugs acts by increasing insulin secretion?
a)biguanides - Gulfnnylur:as c)Acarbose
17)Which of the following insulin preparation is used in dinbetic ketoacidosis:
epular insulin (b) Lente insulin (c) NPH insulin @Chrgmc msu in
)N 18)A 50 years old lady having breast cancer with estrogen &Progresteran receptors mag T
a) Ethinyl estradiole b)Fhitamide. c)Leuprolide. .T":mwul'nn '_+..- B
19)Which of the following is usually the most appropriate drug for post coital rlmiﬂﬂlﬂﬁﬁ 5e?
ifepristone. ¢)Raloxifene. d)Ritodrine. T
increased risk of the following:

[KF

d)thizolidenidions

a) Sildenafil
B 20YMen who use large doses of anabolic steroids, are af _
c) a)Anemizn. biTesticular enlargement. .,}*ﬂemmnsﬁa d}n:-:.tmpnmﬁ_g _-:e‘

21)Oral contraceptives bear an increased risk of :

Thromboembolism b) Weightloss ) Ovarian cancer d) Dysmenorrhea

a) 22) A 70-year-old woman is being treated with raloxifene for osteoporosis. There is an iner
her developing: * !
p) Uterine cancer Deep Vein thrombosis d)  raised LDL#

)
reast Cancer
; To produce anti-inflammatory and metabolic effect, Glucocorticoids inhihit:

b) Lipooxygenase. "‘hnsphniipase A2 d’lx:anthim:'ﬂxidm:'.‘

a‘jﬂycinux]'gﬁﬂm

24)Which of the foﬂwlng drug is a potent inhibitor of corticosternid synthesis and &
b) Cushing's disease” wgng,

4 Dexamethasone. h}H}'dmmmm O:H‘“m‘: ¢ d) Prednisone.

[lowing compounds | is incorrectly matched with its mnthnn@:m ofa

5)Which of the 10
- 15) etitively blocks the binding of androgens to thnirmapmr S
mﬂhﬂi Sa-reductase e

=Ty




. [ inhibits uprakce of
.1t prevents the release of thyto
@ 1t blocks lodination and coup

vand coupling
It blocks the releass of hormanes from the thyroid gland.
2 A fid-year-old woman with'a history of Type 2 disbetes gnwlﬂfg e

failure. Which of the following drugs would be a poor choice in cantrolling her dia

AhiF

TT= alpe

A. Sitagliptin. B. Exenatide. €. Glyburide: D. Glipizide,

QPingﬁmznnn, - n

3 Wihich ofithe following stalements is true for therapy with Insulin.g!;arg'-h&?:'

A It is primarily used fo contral prandial hyperglycemia. :
B. It should nat be combined with any other insulin.
C. It is riow used preferentially in Type 1 diatetics who are pregnant.

Pharmacokinetically, there is no pesk activity, and the activity |asts about 24 hours,

= 1t is cffective by inhalation. 3
4 A child with asthma is being treated e fectively with an inhaled prﬂpﬁi‘ﬂﬁ.ﬂt_‘ll._{;if
hieelomethasane dipropionate. Which of the following adverse effects isof particular .

concern? :
| A Hypoalveenta B Hirsutism, Q Growth Suppressine.

: {3, Cushing's syndrome. E. Cataract formation.

3
lymplhocyles? -, e o= .
‘. & Daclizumab. B. Cyclosporing C Frednisonc. @Imllmu;‘, -
£, Myecophenolate mofetil. * * . j S
& A phientiebeing trested with allopur{nol to control iy peniren e
chemotherapy. Which of the following wollld have to have its dose reduced o prevent:
toxieity? !
‘ﬁ'-'j.—m.#'
5 7 Mucosis develops n a patient ndergeing cancer ehemalierapy ith methotroxate.
dministration ofwhich one of the fallowing 2gents would help? 1 -
@ Loucovarin. A& Filgrastin. ¢ C Prednisone.
i, - -]

3 Which of the following drugs specifically inhibits calcineurin in‘the activated T ﬁ ]

@-W. ONETEG=L . Fludarabine. E. Cytarabine,




———

YA 38.
S-year-gld mal Time allowed:25 mins

_. . e '].’ rc
2 ISt he complaj cently starteq
o b XY ny of tired Monotherg fi . X h
: \ [{Vlowing drugs jg b most ll“:; t“: 20t being able tﬁycnw;:::: ::li:::j mmm:.fm B, ot
3, ¥ (T P 3 is. Which ane
% / Wm"“l“;{ b) Ephedrine ; mhﬂ}lp-rn" hypertensi V,/-'*“r of tennis. Which one of
% 4 ) - 7 €) Phentolamine, N
v | 2)Which drug is most likely to slow reco RAE

txcessive dose l:;finsulin? very from hypoglycemia in a diabetic patient who has taken

@dnxa'zusin
(bkp/mlmnoiui (c) phcnoxybcnzankn? (d) atenolol

3)Propranolol is useful in all of the following except:
(a) Angina @ Familial remor  (c) Hypmensi:{.:-_-j ._(tﬁﬂi“] striovemizicylar Block

-

4)A 57 years old man is being treated for an atrial =rrhyff1min. He complains of headache, diziiness 4

tinnitus. Which of the following antarrhythmic drugs is'the mos iicély cause?

“a)Amiodarone b)Procainamide c)Propranolol @ﬁiﬂi_ﬂiﬂt

S)Digitalis has a profound cffect on myocyte interacellular concentrations of Na‘, K' and Ca™.Th

effects are caused by digitalis inhibiting: Sl
@:aﬁ AT Pase of the sarcoplasmic reticulum %’, ATPase of myocyte membrane
¢)Cardiac B1 receptor d)Juxtaglomerular renin release

6)A 58 year old man is admitted to the hospital with acute heart failure and pulmonary cdema. Which

the following drugs would be most useful in treating him.
" a)Digoxin b)Dobutamine @:‘urnsemidc i d)Minoxidil

7)Which of the following adverse effect is likely to be expericnced by a man taking subling
- : { S A :
nitrogtycerine for atherousclerotic angina®

G lypertension mrobhin g Headache z)Bradycardia d)Sexual dysfunclion

¥)Which of the following side effects caused by nitroglycerine ca e countcracted by combining
bluckers in ease of angina?

a)Dizziness b)Methemoglobinemia . c)Yhrothing headache @hﬂcx tachycardia

7)Which of the following untihypertensive drugs can c:us’h?sisent cough upon administration.

"@.DS::rlun ' I:}Bnu]ggril ¢)Propranolol

" d)Prazosin
10)Select an antihypertensive drug which precipitates ertensive crisis upon abrupt cessation
therapy: E - :

-!m"‘!'ﬂc b)Diltiazem c)Enalapril d)Losarlan
A)The most suitable drug for the treatment of paroxysmrﬂ\suﬁcntri@hr tachycardia is:
: : b)Lidocaine @Quindinc d)Sotalol ¢

A of the following effect is not associated with use of hydrochlorothiazide?
Bed blood glucose level @ncrca!;cd urinary excretion of Ca™

4






